OO0 A0D00D0DDODO000000000gn est

Al0000000

UO0est00D0O000O0O0O0OOODOOOOO0ODOOODOODOOODOOODO pOOOODOOOO
gbboobooobooboobooboooboghobboobooboOoobOestOd pgOOn
oboooobooooboobooo

1. 000000000000D00D000
2. 00000000

e DD ODOODOODOODODDODOODLOODOODOOD p.count

e DD ODOOODLOODOODOODODDLOODDOODLOODLOODO g.count

e OO ODOOODLOODLOODODLDDODLDOODLOODLOODOO0N mpeount

e HUODUOOOOOLOOUODLDOODLDUODLOLDDbODOLOOLOODOODOd mgeount

3. 000000000000000000DOOoOOoOOOOODODOODOOOOO0OO0O00O00O0O0
goooo

4. 0000000000

B p.count B g.count
P= p.count+ mpcount q= g.count+ mgcount

A2.00est0000

est <- function(dframe) #00 dframe = OO0 OO0O0O0O0O000O00O0OO {
cat("--- Start Estimation of Probability --- \n")

#unique 000 0Odframe 0 400 (DO DOODO) OO
#00000000000000000O000

uni.code <- unique(dframe[, 4])

for(i in uni.code) {
#0 000000000000 OOO0O000O0

tmp. frame <- dframe[dframe[, 4] == as.integer(i), ]

#000000

#p.count 0o0o0o0o0oooooDodooooooobooooooaoo
#mp.count] 0000000000000 DOOOOOOOOODOOOO
#q.count 0000000000000 00OoO00obOoooboOooooog
#mg.count O00000D0OD0OODOOOOOODOOODOOOOODOOO
#SumOfP p.count + mp.count [l 0000

#Sum0£Q g.count + mq.count J O OO0

p.count <- g.count <- mp.count <- mq.count <- SumOfP <- SumOfQ <- 0



#check 00000000 ODOO0OOOOODODOOOOOOOOO
check <- tmp.frame[, 14] - 1000
check[(check %% 100000) < 1000] <- check[(check %% 100000) < 1000] - 100000 + 12000

for(j in seq(along = check)) {
#0 0000000000000
fragment <- tmp.frame[, 14] == check[j]

if(length(which(fragment)) > 0) {
#fragment 000000000000 DOOOOO0OOOOODOOO

#000000000000OO
if(tmp.frame[j, 6] !'= "nobody") {
if(tmp. frame[fragment, 6] !'= "nobody") {
p.count <- p.count + 1
}
else {

mp.count <- mp.count + 1

}
#0000000000O000OO
else if(tmp.frame[j, 6] == "nobody") {
if(tmp. frame[fragment, 6] == "nobody") {
g.count <- q.count + 1
}
else {

mg.count <- mqg.count + 1

}
#SumOfP [0 SumOfQ 0 O O
SumOfP <- p.count + mp.count
SumO0fQ <- g.count + mg.count
if(SumOfP == 0) {

p.count <- NA
}
else {

p.count <- p.count/SumOfP
}
#p.count,q.count 00 0O p,qO0 OO0



if(Sum0fqQ == @) {
q.count <- NA
}
else {
gq.count <- ¢.count/Sum0fQ
}
#0000

cat(i, ",", p.count, ",", g.count, "\n", sep = "")

}
cat(" --- End ——-\n")



O0B.OO0OD0OOO0DOOOOODODOOO sim.option

BliOUOUOODOOOOODOO

NPYOOOOOOOOOOOODODOOOOOOOO0ODOOOOODODOO0O0ObOOOOooOoObOO0on
roominuse0 0000000000000 O0O00D0OOO00O0O0O0O0pOOCOOODOOOOOOODO
gboooobooooooboooobooobooooboooboooooooguobooobboobooon
gboobooooobooobgbobboobooboobooooboboooooon

cashODODOO0OOOODDOOOOOODDOOOOOOroominuseD 000000000 100000
goooooooooooooOOOOOO0oO0OoooobooOobobObOOoOoOooooooDoOobobboD
ooo0o0o0O0O00O00000 jO0000000C0000000D00ooooooooODODD O
goooooooobobooboooobooobooooboooboobooobbooboooooboDoOoDboOooO
gbooobobobooboobooobobooboobooooobooooboooboobooog
NPVOOOO

B.2.0 0 sim.optiond O O O

#cash goooooooooboodod O. rep(c(4.8,4.9,5.0,5.1),rep(4,5))
#discount NPVOOOGOOoODoOooDooDooooad

#p est00O0O0OOODOOO p

#q est00000O0O0OOO0O ¢q

#n ooo0Ooo0oooDoon

#create ooooobooooo

#assurance 0000 (00000

sim.option <- function(cash=...,discount=0.1,p=0.9,9=0.1,n=1,create=5,assurance=0.8)

{

#cash OO DO DOODOOODOOODOODOODO

room.len <- length(cash)

# OO 100600000 00O00O0O0O0

max.cash <- sum(cash)

#0 00000000

a.cash <- max.cash * assurance

#000000000D0O0OO00O0O0ODOO
room.inuse <- runif(room.len, min = 0, max = 1) > q

#cashflow 0000000000 0o0ooooonboo
cashflow <- vector(length = n * 12)



#dis.cashflow 00000000000 0000O0O000000o000o0
dis.cashflow <- vector(length = n * 12)

#opt.cashflow O0o0oO0ooOo0oO0ooOooooooooooa
opt.cashflow <- vector(length = n * 12)

#dis.opt.cashflow OO0 O000000O0ODOOOOOOOOODODOOOOOOOO
dis.opt.cashflow <- vector(length = n * 12)

#NPV 0000000DOooooNvoOOooDoDooooo
NPV <- vector(length = create)

#opt.NPV 00000000000 0000O0O0b0000OoN§ywOoOoOoooooono
opt.NPV <- vector(length = create)

#SamplePasss 000000000000 000O000000000 matrixO0O0O0O)
SamplePass <- rep(®, n * 12)

#opt.SamplePasss go0oo0oo0o0oooOo0ooOoo0oooOooooboo0ooooooboooooo
matrixO O 0O0O)
opt.SamplePass <- rep(®, n * 12)

#000000000000O000O0

for(i in seq(to = create)) {

#n00000000000O0000O000 (m*120)
for(j in seq(to = n * 12)) {

#000000
room.inuse[room.inuse==T] <- runif(room.len,min=0,max=1) [room.inuse==T] < p

room.inuse[room.inuse==F] <- runif(room.len,min=0,max=1) [room.inuse==F] > q

#000000000000000D0O0

CF <- cashflow[j] <- sum(cash[room.inuse])

#00000000000O00O0O0DOO0O
if(CF > as.integer(a.cash)) {
opt.cashflow[j] <- cashflow[j]
}
else {
opt.cashflow[j] <- a.cash



#10000
dis.cashflow[j] <- cashflow[j]/(1 + (discount/12))"j
dis.opt.cashflow[j] <- opt.cashflow[j]/(1 + (discount/12))"j

#FNPv O OOOOOOOoOoNvOoOooO
NPV[i] <- sum(dis.cashflow)
opt.NPV[i] <- sum(dis.opt.cashflow)

#0 0000000 (ODOO0O0ODOO 1000000100 000)
if(i == 1) {
SamplePass <- cashflow
opt.SamplePass <- opt.cashflow
}
else if(i <= 100) {
SamplePass <- cbind(SamplePass, cashflow)
opt.SamplePass <- cbind(opt.SamplePass, opt.cashflow)

}

#0 0 0000000000000

1st <- 1ist(NPV = NPV, Option.NPV = opt.NPV, SamplePass = as.data.frame(SamplePass),
opt.SamplePass = as.data.frame(opt.SamplePass))

1st

3

oo c.oon

C.1. sim.option0 O O

> 1st <- sim.option(rep(c(4.7,4.8,4.9,5.0,5.1),rep(4,5)),

+ discount = 0.1,p = 0.833,0=0.750,n=10,create = 1000,assurance = 0.8)
> names(lst)

[1] "NPV" "Option.NPV" "SamplePass" "opt.SamplePass"
> frm <- data.frame(OJ OO = 1st$NPV, OO = 1st$Option.NPV)

c2000p0Oooono

> X <- c(frm$0 00O ,frm$00)
>y <-rep(cC'OOO","O0O™),rep(1000,2))
> histogram(“x|y,layout=c(1,2),xlab="NPV(O)",ylab="00")



c3.oogogon

>z <- frm$00 - frm$O 0O 0O
> frm <- data.frame(frm, OO0O0O = z)
> histogram(frm$0 00 O ,xlab="0000",ylab="00")

c40000000DOO

> tsplot(lst$SamplePass[,1],xlab="00",ylab="CF(O)")

> for(i in 2:10){lines(lst$SamplePass[,i],col = i %% 12)}

> tsplot(lst$opt.SamplePass[,1],xlab="00",ylab="CF(O)")

> for(i in 2:10){lines(lst$opt.SamplePass[,i],col = i %% 12)}



